14.1 Dialogue.

A. kvinos ton telo?

B. ?ow Xo0inos ?al to no
telo. nocim ?a?a?

A. ?ilogot con ce?
tixvagen sqewd.
no sAi? k™ ?opanas.
20w tXomos ?al.

B. Xo0inos ?i k¥ txomas

sis 20w X“9?apanas .

A. ?9y. nem con ce?
ASxViméla.

14.2  Vocabulary: numbers.

1:<erm

k¥xet

kin

naca? ’

?isélo (yosélo)

hixv

Xa?a0on

lqecas

tkom

ta?kvs

tgece?

tu:xV

?apon ’

?apon ?i? k¥ naca?
?Papan ?i? k™ ?isé€lo
?Papan ?i? k™ hix™
?apon ?i? k¥ Xo?40on
?apon ?i? k* tqecos
?apan ?i? kv tXom
?apon 2i? kv t%a?kvs
?Papan ?i? k™ tqece?
?apan ?i? k™ tu:x™
ckvox

Unit Fourteen
Numerals

‘How much money do you have?’

‘I have just four dollars.
Why?’

‘I will buy three sacks of
potatoes.’

‘I need ten dollars.’

‘“There is just six dollars.’

‘Four dollars plus six dollars
makes ten dollars.’

‘Good. I will go to the store.’

‘count’
‘count it’
‘how many?’
‘one’
‘two
‘three’
‘four’

‘five’

‘six’
‘seven’
‘eight’
‘nine’

‘ten’
‘eleven’
‘twelve’
‘thirteen’
‘fourteen’
‘fifteen’
‘sixteen’
‘seventeen’
‘eighteen’
‘nineteen’
‘twenty’

b



14.3 Using numbers.

14.3a A number can be placed before a noun to make a noun phrase.

hix™ lotém ‘three tables’
?apan $x“Cenacton ‘ten chairs’
Piselo xet ‘two doors’
ckvox liloté:m ‘twenty desks’

14.3b A number can be used as a predicate and placed at the beginning of the sentence. The
noun phrase will follow.

?apan to §x“cenacton ‘There are ten chairs (visible).’
?isélo mo k¥0o xet ‘There are two doors (out of sight).’

14.3¢ Use k*in as a predicate to ask ‘how many’. Place it at the beginning of the sentence and
follow it with the noun phrase.

1:<Win ?a?a to §x“cenacton? ‘How many chairs (visible) are there?’
k*in ?a?a kV0o lotém? ‘How many tables (out of sight)?’

144 Addition.
Examples (1) and (2) show how to express addition. Translate the remaining examples.

1. no¢a? 2i? kv noc¢a? ni x*?isélo.

1 +1=2(‘One and a one becomes two.”)
2. ?apon ?i? k¥ hix™ ni x"?apan ?i? k¥ hix".

10 + 3 =13 (‘Ten and a three is thirteen.”)
3. yosela ?i? k¥ Hix™ ni x¥o Iqecas.
4. tXom ?i? k¥ Xo?a0on ni x*o ?Papon.

5. tux™ 20?2 kv lix" ni x¥o ?apen ?ik" ?isélo.

6. tgece? ?i? kv tPa?k™s ni x"o ?apon ?ik™ fqecas.

7. 1+2=3
8. 5+4=9
9. 7+1=8

10. 3+17=20



14.5  Subtraction.
Example (1) shows how to express subtraction. Translate the remaining examples.

1. Xo?40on me?x kv ?isélo ni xVyas élo ?al.

4 —2 =2 (‘Four take off a two becomes just two.”)
2. ?apan ?i? me?x k¥ txom ni x%o Xo?40an.
3. ckvox ?i? me?x kv tgece? ni x¥o ?apan ikv yas élo.

4. 9-5=4

5. 74=3

14.6 Vocabulary: time expressions.

netot ‘early morning’

qilt ‘late morning’

snet ‘night’

xVane?ent ‘evening’ (Chemainus, Nanoose)
x%Vone?enat ‘evening’ (Nanaimo)
tax¥ ‘close’, ‘near’

tax™ sweyal ‘midday (noon)’

tax™ snet ‘midnight’

yohonom ‘before’, ‘going on to’
yloéw ‘after’, ‘past’

yloéw taxv sweyal ‘afternoon’

Isaq ‘half’

14.7 Telling time.
Tell the time by using numbers and tinton ‘bell’, ‘o’clock’. This use of tintan goes back to when
ships were anchored in the harbour and the ship’s bells would be sounded on the hour.

tix¥ tinton ‘three bells (three o’clock)’
tqecas kvs yloéws tx™ ‘3:05°
?apon k*s yohonorhs t%a?k™s ‘6:50 (ten minutes to 7:00)’
tqecas kvs yohonoms t9a ks 6:55°
tsaq kv's yloéws tixv. ‘it is 3:30 (half past 3:00).”

14.8  Giving the time.

na?at wat tix™ tinton. ‘it is already 3:00.’
ni wat k¥in? ‘What time is it?’
na?at wat tqece? tinton. ‘it is 8:00.”

na?ot wol tax¥ sweyal. ‘it is noon.’

na?ot wol tax™ snet. ‘it is midnight.’



na?ot wot yohonom tax™ sweyal. ‘it is before noon.’

na?ot wol yloéws noca? t%a?k>s. ‘it is after 1:00.

14.9 Pattern practice.

It’s already 3:00. na?at wal lix™ tinton.
6:00

10:00

8:00

2:00

5:00

14.10 Translation.

1. 1:20
2. 4:40
3. 3:10
4. 6:40
5. 815

6. 1soq k*s yloews xo?240on

7. ckvox kvs yohonoms ?isélo

8. ?apon kvs yiaéws tgece?

9. ?apon kvs yohonoms ?apon ?i? k¥ noca?

10. ck¥ox k¥s yloews yas élo



14.11 Vocabulary: days of the week.
Notice that several of the days of the week are based on words for numbers.

silowolnét ‘Monday’

sBomonts ‘Tuesday’ (second)

shixvs ‘Wednesday’ (three)

sxa?4a0ans ‘Thursday’ (four)

stqecas ‘Friday’ (five)

tqvatom, taq“tom ‘Saturday’ (tq“at ‘break/cut it off”)
sxaxatnét ‘Sunday’ (XoXot ‘sacred, holy’)

14.12 Pattern practice.

Q: What day is this? skvins tona? kveyal?
A: It is Wednesday today. slix"s tona? kveyal.
Friday

Sunday

Tuesday

Monday

Saturday

Thursday

14.13 Money: counting dollars.
When you are counting money, a lexical suffix for round things -as is attached to the number.

nacas ‘one dollar’
yosalos ‘two dollars’
tixvos ‘three dollars’
xo0inas “four dollars’
tqacsas ‘five dollars’
txomos ‘six dollars’
t%a?kvsas ‘seven dollars’
ta?csos ‘eight dollars’
tu:x"os ‘nine dollars’
?opanaos , ‘ten dollars’
?opanas ?i? k¥ nacos ‘eleven dollars’
?Popanas ?i? kv yosalos ‘twelve dollars’
?opanas ?i? kv tix“as ‘thirteen dollars’
?Popanas ?1? k¥ xo0inas ‘fourteen dollars’
Popanas ?i? kv Iqacsas ‘fifteen dollars’
?Popanas P17 k¥ tXomas ‘sixteen dollars’
Popanas ?i? kv t%a?kvsos ‘seventeen dollars’
?opanas ?i? kv ta?csas ‘eighteen dollars’
29panas ?i? kv tu:x“as ‘nineteen dollars’
ck“xas ‘twenty dollars’

k“inas? ‘how many dollars?’



14.14 Pattern practice.

Q: How much (does it cost)? Q: kvinos ?a?a?
A: Five dollars. A: 1qacsas.
two dollars

ten dollars

one dollar

fifteen dollars

twelve dollars

seventeen dollars

14.15 Pattern practice.

Q: How much money do you have?’ Q: kvinos ?a?a ton telo?
A: T have ten dollars. A: 29panas to no telo.
eight dollars

six dollars
nine dollars
twenty dollars
fifteen dollars

14.16 Answer and translate.
Answer one dollar less.
1. ?opanas ?i? k¥ Iqacsos 2o k¥0on telo?
‘Do you have fifteen dollars?’
20w, 2ow ?opanoas ?al ?i? k¥ xo0inas k¥0o no telo.

‘No, I just have fourteen dollars.’
2. ?opanas ?i? kv tu:xvos 20 k¥0on telo?

3. ckvxas 20 k™0on telo?
4. ta?csos 20 k¥0an telo?

5. ckvxas ?i? k¥ Iqacsos 2o k*0an telo?



14.17 Translation.
1. ?opanos ?i? k¥ Xoinos
2. ?9panas ?1? kv tu:xvos k¥09 no telo.
3. k“inos ?a?a ton telo?
4. ckvxas ?i? k¥ lixvos
5. yosélos o ton telo?
6. I have nine dollars.
7.  How much (does this cost)?
8. Itis fifteen dollars.
9. Do you have twenty dollars?
10. I have only twenty dollars.
14.18 Counting people.
Counting one or two people is done with reduplication of the number.

When counting three or more people, a lexical suffix for ‘people’ appears on the number. This
usually takes the form of -els.

nanaca? ‘one person’
yaysalo ‘two people’
toxvélo ‘three people’
xabi:la ‘four people’
Iqecsélo ‘five people’
txomoalo ‘six people’
tPak¥sélo ‘seven people’
tgeco?élo ‘eight people’
tu:xélo ‘nine people’
29pé:lo ‘ten people’
ckvxelo ‘twenty people’

kvi:lo ‘how many people?’



14.19 Pattern practice.
I have three children. toxélo k¥0o no memaona.

five children

seven children

ten children

two children

eight children

14.20 Pattern practice.

Two men sang. ni tilom k¥0a yaysslo sowwdyqe?.
four men

six men

twenty men

nine men

ten men

14.21 Other counters.
There are around twenty counter suffixes in all. Here are three really common ones.

14.21a The suffix -mat gets used for counting pieces of stuff, especially flexible things that you
can pile up, such as blankets, mats, clothing, paper, and books.

nacamat ‘one piece of stuff’
?isélomat ‘two pieces of stuff’
tox¥mat ‘three pieces of stuft’
xoBinamat “four pieces of stuff’
tqocomat ‘five pieces of stuff’
txomomat ‘six pieces of stuft’
t%a?k“¢omat ‘seven pieces of stuff’
ta?comat ‘eight pieces of stuff’
tu:xmat ‘nine pieces of stuff’
?opanamat ‘ten pieces of stuft’
ck“oxamat ‘twenty pieces of stuff’
kvnmat ‘How many pieces of stuft?’

14.23b The lexical suffix -?ewtx” gets added when counting buildings or rooms.

nacowtx™ ‘one building/room’

Oomtx™ ‘two buildings/rooms’
Hxvéwtx™ ‘three buildings/rooms’
xo0inowtx™ ‘four buildings/rooms’
lqecowtx™ ‘five buildings/rooms’
kvinéwtx™? ‘how many buildings/rooms?’



14.21c¢ The suffix -gan is used for counting containers, such as sacks, jars, and cans. It is used
for counting stuff that comes in containers, such as sacks of potatoes, jars of tomatoes, and cans
of salmon.

nséqqsn ‘one container’
?isélogon ‘two containers’
hixvogon ‘three containers’
xa0inagon ‘four containers’
Iqecsagon ‘five containers’
txomogen ‘six containers’
Ba?kvsogon ‘seven containers’
te?csoqon ‘eight containers’
tu:x“oqon ‘nine containers’
?9pénagan ‘ten containers’
ck“oxigon ‘twenty containers’
k“inagon? ‘how many containers?’

14.22 Substitution drill.
I have three sacks of potatoes. tix¥ogon k¥0a no sqew0.
three books
three houses
three children
three blankets
three dollars

14.23 Translation.
I. mewaostox™ ¢x¥ yaséismat lox*ton!
2. tgeco?élo k0o ?2imab 2o A Mary.
3. ?ilogot ct ce? Bomtx™ lelom.
4. nem kvonat Iqecsoqon sqew0!
5. Oomtox™ k"0 no Pomotéwtx™.
6. 1 will buy three sacks of potatoes.
7. Four girls danced.

8.  How many children do you (pl) have?

9.  We have ten books.



10. How many blankets do you have?

14.24 Reading lesson.

ta?¢omat k*0o lox“ton ct. ck¥oxamat k¥0o sil ct. opénagen kv0o sqew. ?apon ?i? kv Iqecos
sce:tten. qox k¥0a soplil ct. qox to sq¥ilmox™. qox to siya:t ct. Ae:xonaq ct ce?.

ni hay
The End




